Question 6 (15 marks) .

18)

19)

{a)  Name the paif of similar triangles and prove that

(t)  Find the value of x.

Find the values of the pronumerals (note thal reasons
fo gt ANY marks).

they are similar.

ar¢ not necessary,

b

ut working MUST be shown
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Answers

Question 1 {5 marks)

Y

1)  Giventhat f{x)=x"+4x—7, evalvate /(1)
2) For what reason are the two triangles below congruent?
3 The angle £ DCF is marked on
the right. WRITE dovwm an angle
alternate to it. (4D and HE are
NOT paraliel lines.)
) Write down the value of 5.
NOT TO SCALE
i ) Write a monic polynomial of degree 4 with a constant term of —5.




Question 2 (6 marks)

Aunswers

6) Which of the following graphs represents y =(x+ 2y

(A) ®)
Ty \A y
2
P 3 x 2
© o
T/y Ay
12
.2 2 x
2 ? 2

7

NOT TO SCALE

O is the centre of the circle.”

a=17(Give reasoning)

Question 2 continued

Apswers

8) The graph of y =27 could be:

A B

}’I .A\y
%
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X

{©) (D)
y/\
A\)y
7y

N Consider the function f{x)=

5 +4
i-x ’
What values would have to be excluded from the domain?
indicate your solution on a number line.
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Question 3 (11 marks)

Answers

10)

For P(x) = 4x"—13x+6, use the Remainder Theorem to find the
remainder when P(x) is divided by x+2.

What can you conclude about x+2 and P(x)?

1)

plxy=x—1
g(x)=x"+3x -4

Evaluate the following

(a) p(x)+g(x)

(&) p(x).q(x)

{c} g{x)+ p(x)

(a)

()

{c)

12)

Evaluate the pronumerals, giving
reasons.

(a}x=?

Byy=2

NOT TQ SCALE

(@

(b)

5

Question 4- (6 marks)

Answers

13} Graph the polynomial on the number plane provided below, clearly

showing the intercepts.

y=3x(1-x}x+3)

%
J
-3 2 - I 2 3 x
3x+1 Zx—
4}y For f(x)= 2 and g(x)= L consider the following
statements:
L flg2) =2
ML gx)=/"(x)
{A) Both are true (B} 1 is true only
{C) 1 is true only {D) Neither are true,
9 (Marks may be awarded for reevant working}




Question5 {14 marks) .
| westion 5 continued
15)  Construct aright angle trjangle with one angle of 15°, using only compasses and a steaight edge. : N
Note that sl construction lines must be visible. D (&) Makeancatsketchof y =x7
(v)  Hence neatly sketch the graphof y =1~ (x+1).

o o -

16)  Till in the blanks in the following proof.

to prove that the line from the cenlre of a circle to the midpoint
of a chord is perpendicular to the chord.

=___ (Datd),

Aim:

Proof:

_____iscommen,

OA=0B{( b
~ AOAM ___AOBM({ ). .
Hence LOMA =LOMB {
But LOMA +L0MB = 180° (
5 LOMA =LOMB =90°. '

)

e . _ o



